HBR(L)WR S -FEE ST EBE mesasm

EIREITFARERER

o EBEER C AREEE

O BRI
[ EEEREY (BT
aE@) | 20 | 25 | 32 | 40
D ESEES
ER &L 1 (mm) 220 @25 @32 @40
i mm @12 @14 @16 216
1EENFZ X 1B
LESEEP:c EIREZBiEER
11 kgflcm? (kPa) 10.3(1030)
ERE N EE kgf/cm? (kPa) 1 ~ 7(100~ 700)
EEETTE mm 9 11
TR mm 13 15
FIREME mES
T ARE 90%*2’
hEEE 75 [ A (RAME)-L ; 48 (BE[A)-R
R RIEFN (N) (6kgficm?) 120 200 360 630
EE kg 0.3 0.5 0.7 0.9
© FT BT IFUER
(w8 [ R ) CP @ x @ - (_so 2 )
| et | |aEzs] | REAE [ maraE | ] BERE \
[w 1] mEsameE ‘ ‘ ‘

[w 2] FepemttE 20 - @20mm
25 - @25mm

32 - F32mm
40 - G40mm

ra

CS-9D SD [2
L RNAEEERX P —— [SD]: R:FE2STE4E B (CS-9D)
(EERE) ([ETETEE) 858148 (CS-98)

220 - 13 & 2R TE 4H B (CS-9H)
- mm 5 PhE B X A (G
@25 - 13mm [SDP|: /& 28 7& 48 & (CS-9DPNP)
@32 - 15mm [2 ] mpesye
F40 - 15mm 1=1{F S
2 = 2{E ke RS (EEL 1)

R: RTABEENX
(REAA)



HBR(L)WRS-FEE BT EBE mesasm

ABEERRY

O HBR(L)W ©20 ~ @40

. 5 v -
{M -
£ \ ( ‘
K 4-GL
J
G1
F. N ‘
\ \
|
| L] .
! ! °
4l /{i |
E1 | i -
| S 5
777777777 1 I T
M <
i <
- !
z ! ol <
\ o
@Mi
o~ i (@)
z ‘
1 | |
M
[%]]
R
ol
1 I
| IHIN S
I sgert10 [T || o] @
f f T
s
£ R ST A A1 A2 B c D1 E1 F G1
220 22 67 89 (105.9) 65 23 [J15.9 M6%1.0 6 50
@225 22 67 89 (105.9) 65 23 [J15.9 M6%1.0 6 50
@32 26 82 108 (128) 78 28 719 M8x1.25 8 70
@40 26 82 108 (128) 78 28 119 M8x1.25 8 75
5T 1 I J K L M N Q R S T u N1 N2 | N3
@20 31 33 26 @3.3 | M5x0.8P 35 6.8 11 @12 5 8.5 7.5 13 41.5
225 @35 38 30 4.6 | M5x0.8P 85 6.8 11 214 5 8.5 8 16.5 39.5
@232 346 50 40 @52 | PT1/8 50 @9 14 16 7 9.5 1.5 19 45
240 55 60 48 26.8 | PT 1/8 59 @9 14 16 7 9.5 14 19 45




